
Time: 10 Minutes Paper G-Science 6 Total Marks: 10

1st Month, 3rd Week, 2nd Day Syllabus: Unit # 2, Sexual reproduction in plants,

Pollination

Q.No.1 Encircle the correct answer from the following choices. (0.563)


i. Self pollination takes place in: 
(a) Cotton  (b) Papaya  (c) Rose  (d) Maize 
ii. During pollination, pollen grains reach the stigma of:

 


  
(a) Sepal 


 (b) Petal 






(c) Carpel  (d) Stamen







iii. Pollen tube contains______gametes.    
(a) One male and one female  (b) Two male 
(c) Two female  (d) Three male 
iv. How many processes involve during sexual reproduction in plants?

 
(a) 2 (b) 3 (c) 4 (d) 5

v. Mostly, the flowering plants reproduce: 
(a) Asexually  (b) Sexually 
(c) Vegetative propagation











   (d) Both a & b  b  a

vi. On which part of flower, a pollen grain germinates?


(a) Stigma  



(b) Style  (c) Ovary  (d) Pollen tube 
Q.No.2. Write short answers. (224) 
(i) In which plants cross pollination takes place? 
(ii) Define sexual reproduction.

 
Q.No.3. Write long answer. (3) 
(i) Defin pollination. Explain its different types.


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